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QUESTION 1

which of the following may be used as a closing tag? 

A.  

B.  

C. 

 

D.  

Correct Answer: A 

 

QUESTION 2

What is a CSS selector? 

A. A pattern that targets the HTML elements you want to style 

B. A tree structure wherein each node is an object representing a part of the document 

C. An HTML inline frame, used to embed another document within an HTML document 

D. A query language for selecting nodes from an XML document 

Correct Answer: C 

 

QUESTION 3

Which of the following snippets of code would allow you to open a browser window and go to the python web site using
WebDriver with Python bindings? 

A. driver = webdriver Chrome() get(\\'HTTPS //www python com) 

B. driverwebdnver Chrome() driver refresh(\\'HTTPS://www_python com\\') 

C. driver = webdriver Chrome() driver.get(\\'HTTPS://www.python com\\') 

D. driver webdriver Chrome(HTTPS://www python com) 

Correct Answer: C 

 

QUESTION 4
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Which of the following BEST explains how Selenium fits within the test automation architecture? 

A. Selenium supports designing test cases 

B. Selenium interfaces with the SUT 

C. Selenium supports implementing test cases 

D. Selenium is a tool, not part of the test automation architecture 

Correct Answer: C 

 

QUESTION 5

Which of the following is NOT part of a CSS rule-set? 

A. Selector 

B. Declaration 

C. Property 

D. Variable 

Correct Answer: D 
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